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ÌÎÍ�X�ÀNVÂTWVYXlÏ Á
ÐYÑ�Ò�Ó§Ô�Õ

x ∈ R Ö�×­Ø Õ�ÙÛÚ7ÜÝÔ�Þ­ÙÛÚzß�Ù�Ú�à'áYÓ§Þ × Ù�â/ÓYÞÂã§Ù/Ú7ä§Ù/Þ­âÛÙ R × ÙÎßåà�æ Ø ÚçÔ�Ù × Ù�Õ�Ù/ÚçÜèÙÎä Ø Þ Ø Ú�à§ß
un(x) =

xn

2n + 1

Ñ
é à§ß�â/ê­ß�Ù/ÚëÙÛÞ­æ7ê­ÔHÕ�Ù Öbì ÓYê�Ú³Õ�ÓYê�Õ x ∈] − R, +R[ Ö S(x) =

+∞
∑

n=0

un(x).

í�Ñïî Ø ãYÙÛß�Ó ì­ì Ù/ÚïÙ/Þ�æ Ø Ú7Ô�Ù�Ù/ÞÂÕ�Ô�ð/Ú7Ù+ß�à^ñ	Ó§Þ­âÛÕ7Ô�ÓYÞ ×­Ø?ò Þ­Ô�Ù ì à§Ú�ó f : x 7−→ ln

(

5 − x2

3 − x

) Ñ

ÌÎÍ�X�ÀNVÂTWVYX%[ Á
ÐYÑïô"ÓYê­Ú

a > 0 Ö ÓYÞ ì ÓYæ7Ù Da = {(x, y) ∈ R
2 / a2 ≤ x2 + y2 ≤ 1 }

Ñ
é à§ß�â/ê­ß�Ù/Ú ∫

Da

ln

(

1

x2 + y2

)

dxdy
Ñ

í�Ñ�õöÞ ì ÓYæçÙ D = {(x, y) ∈ R
2 / 0 < x2 + y2 ≤ 1 }

Ñ
÷ Ó§Þ�Õ7Ú7ÙÛÚïø�ê­Ù ∫

D

ln

(

1

x2 + y2

)

dxdy
Ù/æ|Õïâ/ÓYÞÂãYÙÛÚ7äYÙÛÞÂÕ�Ù�Ù?Õ × ÓYÞ­Þ­ÙÛÚ�æ�à^ã§àùß�Ù/ê�Ú/Ñ

ÌÎÍ�X�ÀNVÂTWVYX%ú Á
õöÞ�Þ­ÓùÕ�Ù

f
ßåàëñ	ÓYÞ­â?Õ�Ô�ÓYÞ

2π û@ìEØ ÚçÔ�Ó × Ô�ø�ê­ÙqÙ?Õ ì àùÔ�Ú7Ù Ö�×­ØÛò Þ�Ô�Ù ì ÓYê­Ú x ∈ [0, π] ì à§Ú f(x) = π−xÙ?Õ
ÓYÞ�Þ­Ó§Õ7Ù

g
ß�à^ñ	Ó§Þ­âÛÕ7Ô�ÓYÞ

2π û@ìEØ ÚçÔ�Ó × Ô�ø�ê­ÙöÙ?ÕïÔ�Ü ì à§Ô�ÚçÙ Ö�×­ØÛò Þ­Ô�Ù ì ÓYê­Ú x ∈]0, π] ì à§Ú
g(x) = π − x

Ñ
ÐYÑïîÎÓ§Þ­Þ­Ù/Ú�ê­Þ�Ù�ÚçÙ ì Ú Ø æ7ÙÛÞÂÕüàùÕ7Ô�ÓYÞ�äYÚ�à ì­ý Ô�ø�ê­Ù × Ù f

Ù?Õ
g þ ñ�àùÔ�Ú7Ù × Ù/ê�ÿ × Ù/æ7æçÔ�Þ­æ × Ô�æçÕ�Ô�Þ­âÛÕ7æ�� Ñí�Ñ é à§ß�â/ê­ß�Ù/Úëß�à�æ Ø ÚçÔ�Ù × Ù������	��

��� × Ù f

Ñ
��Ñ��)Þ ×­Ø/× ê�Ô�Ú7Ù

+∞
∑

p=0

1

(2p + 1)2

Ñ
� Ñ é à§ß�â/ê­ß�Ù/Úëß�à�æ Ø ÚçÔ�Ù × Ù������	��

��� × Ù g

Ñ


